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QUESTION 1

What is wrong with this statement: "We delivered two services last year. Even though each service was delivered by a
separate project team in a different location and at a different time, I am confident that the services will be reasonably
interoperable because each project team was asked to use the same design standards." 

A. The statement is incorrect because services should never be delivered by different project teams. 

B. The statement is incorrect because services rely on post-implementation integration effort in order to achieve
interoperability, not design standards. 

C. The statement is incorrect because SOA delivery projects require that services be created at exactly the same time in
order to guarantee interoperability. 

D. There is nothing wrong with this statement. 

Correct Answer: D 

 

QUESTION 2

Project Team A delivers Domain Service Inventory A with 20 services. If Project Team B delivers Domain Service
Inventory B with 50 services, how many services are in the Enterprise Service Inventory? 

A. 20 

B. 50 

C. 70 

D. An enterprise service inventory is not comprised of domain service inventories. 

Correct Answer: D 

 

QUESTION 3

The use of services tends to the size of service compositions. 

A. autonomous, increase 

B. stateless, decrease 

C. scalable, decrease 

D. agnostic, increase 

Correct Answer: D 

 

QUESTION 4
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A Service Level Agreement (SLA) is a common machine-readable document that is considered part of the technical
service contract. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 5

Service-oriented computing advocates establishing a technology architecture with increased vendor technology
diversity, which means that service-oriented solutions need to be consistently built using different vendor technologies
and products. This way, the failure of any one vendor technology or product will not bring down all services within a
service inventory. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 
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